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[bookmark: _GoBack]Figure 1 – Supplement 3. Fitting changes in cell number over time using the Logistic growth equation. (A) Logistic growth equation. K is the growth rate in 1/h which is equivalent to the exponential growth rate at low density, and Ymax is the maximum number of cells reached per condition. (B, C) Flipin-Trex-293 cells expressing nuclear mCherry were seeded in varying concentrations of fetal bovine serum (FBS). Cells were imaged on an Incycte to track changes in cell count over time. The change in the number of nuclei/well over time is reflected in the growth rate. The growth rate decreases over time and is better modelled as logistic (C) rather than exponential growth (B). While the population growth rate estimated by fitting to the logistic growth model, k, increases by increasing fetal bovine serum (FBS) (D), the carrying capacity of a culture (Ymax) does not once the FBS concentration is above 0.5% (E). D, E: n=5, meanSEM.  C, B: dots are the raw data points representing the average of 5 wells and lines are the fits to the corresponding model.
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